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AMET—TH 216 219 218 437
AMHET—TH 369 400 430 830
EMET=TH 568 583 722 1,305
AMETETH 426 402 501 903
B S HET 370 400 482 882
RAFIET—T B 381 384 439 823
RRIET=TH 478 454 532 986
RERAMET=TH 653 563 648 1,211
EFET—THB 308 320 343 663
EMET=TH 269 274 300 574
EEET—THB 429 393 484 877
EEEZ=TH 470 432 520 952
FEE—TH 370 365 443 808
EERIZTH 328 315 351 666
E=E—TH 175 178 185 363
EEEZTH 338 331 381 712
ESE=TH 436 473 537 1,010
E=ETET B 404 433 473 906
BSHET—TH 308 292 336 628
BEETZ=TH 492 438 547 985
HEEI=TH 472 526 606 1,132
BEETETB 654 720 793 1,513
WERET—TH 339 334 341 675
WERETZTH 228 212 215 427
HEET=TH 396 344 327 671
WERETMTH 433 396 491 887
HEETETH 544 495 589 1,084
KFHT—TH 122 109 128 237
KXFHIZTH 371 345 396 741
KXFE=TH 197 182 200 382
fIEET—TH 371 357 381 738
HMERTZTH 407 416 475 891
FHRHEE—TH 163 136 180 316
FHREEZTH 192 169 200 369
FREE=TH 208 175 201 376
FREETUETH 107 97 94 191
FHKEEETH 117 86 111 197
AEHT—TH 337 310 362 672
AET—TH 139 137 150 287
ABT=TH 238 222 232 454
=ET—TH 532 518 610 1,128
*E-TH 738 652 709 1,361
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=AET—TH 352 327 349 676
=AET=TH 305 267 268 535
ZHET—TH 336 341 396 737
ZAETZ—TH 244 267 274 541
FIEET=TH 556 566 636 1,202
ZAETETH 491 471 527 998
KINRBT—TH 759 859 940 1,799
XIRETZTH 511 568 590 1,158
7R ET 2,412 2,851 2,977 5,828
NEET—TH 278 318 358 676
BT T B 53 54 64 118
X JIH#T 746 812 880 1,692
XRET—TH 810 891 948 1,839
XREEIZTHE 637 745 798 1,543
XRET=TH 707 843 916 1,759
XRETET B 462 486 575 1,061
FET—TH 670 682 629 1,311
EET—TH 901 970 1,028 1,998
BEET=TH 923 896 952 1,848
FETmTB 508 499 549 1,048
kAN HT 365 421 490 911
FHAERTERN) 28,119 28,721 31,807 60,528
FiESHET 666 789 840 1,629
1 SET 187 229 241 470
ST 455 594 567 1,161
HEET—TH 416 435 440 875
EBEET=TH 431 422 533 955
BHREET=TH 653 730 744 1,474
ZFEETMTH 356 436 418 854
1% BRHET 364 477 501 978
T SHET 196 293 308 601
= Hh BT 169 229 202 431
oS HT 694 990 1,001 1,991
ey 292 343 350 693
\WEBT—TH 989 1,152 1,147 2,299
\WFRT=TH 526 617 660 1,277
rh N ET 268 431 418 849
REMT 542 773 819 1,592
[LEEET—T B 909 951 1,059 2,010
[LEERT =T B 1,585 1,599 1,878 3,477
[LERT=TB 1,393 1,309 1,579 2,888
T (ENIR#X) 11,091 12,799 13,705 26,504
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2N HHET 299 391 387 778
18 FHT 191 289 285 574
S EH 538 750 802 1,552
EEJCRRET 293 366 384 750
HrYEHT 550 914 939 1,853
T FAT R ET 120 164 194 358
JIALET 247 328 353 681
8 FLHT 57 87 83 170
EHLET 110 145 147 292
TJIET 775 893 935 1,828
FHCFNIRHTRX) 3,180 4,327 4,509 8,836
R R ET 358 484 518 1,002
/)N s R ET 194 276 270 546
i SUHT 226 282 292 574
FHRHET 384 491 507 998
S ERET 591 793 858 1,651
INR BT 658 902 924 1,826
FaHT 308 425 420 845
& FLHT 208 209 230 439
={EEs—TH 311 354 382 736
=SB =TH 621 696 751 1,447
FTCREMX) 3,859 4912 5,152 10,064
={RET—TH 723 769 845 1,614
=RETZTH 526 560 612 1,172
=RET=TH 671 729 807 1,536
SEIRAT 565 636 612 1,248
L ET 286 415 396 811
TR ET 505 564 606 1,170
AR E—TH 411 483 484 967
AARBEETZTH 922 937 1,061 1,998
BAARBRET=TH 516 597 541 1,138
mAABEETETE 510 546 480 1,026
BAARBEETRTH 575 606 604 1,210
R EHET 679 860 887 1,747
| SRET 1,903 2,359 2,465 4,824
A EAHT 101 129 141 270
& RHET 670 718 857 1,575
SR EHET 464 600 624 1,224
£ 2 T BT 329 404 456 860
1R HET 605 874 943 1,817
T ARHET 1,242 1,405 1,481 2,886
F(EEHRX) 12,203 14,191 14,902 29,093
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#5 HET 2,213 2,763 2,930 5,693
% ZRHET 243 320 340 660
il F5 E ET 588 731 699 1,430
AIFEEHBTZ=TH 166 220 244 464
JII g BT 878 999 1,024 2,023
Fi 1e7 i HH T 531 634 713 1,347
T $T HET 1,447 1,804 1,934 3,738
| FrERET 1,405 1,680 1,736 3,416
INE K HT 970 1,070 1,011 2,081
INBARET—TH 157 155 182 337
=il 577 565 517 1,082
e —TH 677 677 694 1,371
ST HET 939 1,120 1,095 2,215
EIR ASEHT 116 133 136 269
SthS AT 346 380 366 746
KXFRET—TH 643 704 799 1,503
AFIRETZTH 580 645 726 1,371
HTRTFEHET 361 322 350 672
= ) 216 279 295 574
S (ERX) 13,053 15,201 15,791 30,992
Pt i 3,297 3,670 3,625 7,295
Tttt ET—TH 410 463 512 975
TTHET=TH 484 483 522 1,005
TTHET=TH 51 62 65 127
KERET—TH 223 220 213 433
KKRETZTE 588 620 616 1,236
KERET=TH 325 352 343 695
KERT—TBHE 266 263 279 542
KEBIZTH 2 1 1 2
AEHET 31 29 37 66
HERET—TH 170 186 202 388
AREIZTE 181 162 200 362
AEREI=TH 155 161 155 316
ARETETHE 213 227 222 449
HERETRTH 251 245 308 553
B IHT 619 675 474 1,149
THREH 408 414 439 853
MEET—T B 61 39 47 86
BMEET=TH 278 232 238 470
AT (T#atthX) 8,013 8,504 8,498 17,002
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BT #t 2,017 2,331 2,335 4,666
HHEr—TH 25 24 23 47
WHETZTH 334 343 319 662
HWHET=TH 256 274 286 560
BHETETH 134 166 147 313
T ETHE B 1,332 1,611 1,688 3,299
KBTS H 323 338 365 703
=HET—TH 496 565 574 1,139
BTN R 384 494 488 982
At (FattihX) 5,301 6,146 6,225 12,371
M FHET 1,051 1,336 1,365 2,701
T F T 1,752 2,170 2,272 4,442
e BET 1,290 1,471 1,612 3,083
T/NHET—TH 441 447 466 913
T/INHETZTH 988 939 947 1,886
T/NHET=TH 459 438 456 894
E/NHET—TH 569 647 643 1,290
F/NHETZTH 662 668 707 1,375
E/NHET=TH 688 742 746 1,488
BETRL P ET 737 844 821 1,665
& HET 2,044 2,386 2,469 4,855
ik il 904 909 1,021 1,930
FRET—TH 575 678 702 1,380
RHKET=TH 611 687 693 1,380
RKET=TH 209 229 244 473
FHMETET B 177 212 190 402
B & <F HT 214 256 283 539
J1 i ET 41 57 58 115
H O &7 887 1,054 1,138 2,192
R 4R ET 258 265 288 553
FA{RET—T B 188 238 260 498
FiRET=TH 411 521 517 1,038
BAiRET=T B 508 563 557 1,120
JUI R ET 131 127 151 278
NIRET—THB 475 572 624 1,196
NERET=TE 364 465 483 948
A A& T 754 685 966 1,651
it (Pt X) 17,388 19,606 20,679 40,285
th i AT 230 327 330 657
EERFHET 170 242 240 482
HELTHT 800 982 1,087 2,069
B ETHT 203 244 268 512
FCEEHK) 1,403 1,795 1,925 3,720
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RINKSHT 1,202 1,338 1,341 2,679
XINKSHT—TH 456 483 530 1,013
XINKSETZTH 414 440 480 920
XINKEBET=THE 800 869 843 1,712
+XREHT 729 940 988 1,928
= ZET 198 261 271 532
L+ REET 257 305 336 641
B EPHET 117 138 142 280
Eadesliiy) 435 545 550 1,095
T RBEET 218 317 310 627
/N T 141 201 195 396
Erfis BT 2,868 3,441 3574 7,015
T KBHT 1,232 1,471 1,564 3,035
&t Gk BAHEX) 9,067 10,749 11,124 21,873
T RKEHT 220 310 304 614
SRIRHET 284 420 389 809
= HET 686 983 972 1,955
FTOHT 360 510 521 1,031
TR THT 509 722 749 1,471
oK =HT 521 688 697 1,385
RKZEMT 251 334 327 661
B+ FET 259 376 362 738
HTHHET 95 138 143 281
ZZ=H 990 1,389 1,359 2,748
S FHET 241 361 343 704
S FHHET 382 546 554 1,100
INE R ET 612 799 814 1,613
& HET 534 623 654 1,277
T EET 332 454 465 919
EENRET 563 752 784 1,536
AT Gt X) 6,839 9,405 9,437 18,842
K HAET 644 736 839 1,575
N 1,424 1,867 1,861 3,728
Y R ET 1,475 1,980 1,992 3,972
&R ET 452 649 610 1,259
FETERT 539 780 809 1,589
RE AT 170 195 227 422
3] [ T 525 722 756 1,478
A R T 1,135 1,459 1,594 3,053
+EREMET 412 557 525 1,082
FH(R#AX) 6,776 8,945 9,213 18,158
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SERHE 897 1,337 1,385 2,722
HEHT 583 799 846 1,645
T 2 EAHT 236 364 348 712
=TRRHET 104 120 118 238
wy ST 366 556 598 1,154
B 15T 165 269 248 517
KATEHAET 477 682 687 1,369
FH(EHEHX) 2,828 4,127 4,230 8,357
FRINET R 2R 105 111 108 219
FHNIETZER 186 271 271 542
FAJIET A H 393 558 596 1,154
FHIETFEER 138 206 192 398
BT ETE 408 571 575 1,146
FHNIETAR R 623 850 838 1,688
FHBTRE 579 893 877 1,770
)BT 23 693 1,031 1,030 2,061
FH)IETFE T 188 228 266 494
FIETRIE R 53 74 78 152
FH)IBT EEREE 56 89 97 186
FIET FRE®E 43 77 76 153
FANIBT—HaTH 35 66 52 118
81 BTeh 144 202 195 397
)1 BTRE 291 411 390 801
S CGRNHEX) 3,935 5,638 5,641 11,279
ETRETHS 334 444 441 885
ELTRETSIH 85 123 106 229
ETRETHEE 290 447 460 907
=T RETRZHE 1,422 1,980 1,928 3,908
E T RET/NR 386 524 554 1,078
=+ RETKEF 331 517 548 1,065
=+ RETEFR 1,881 2,691 2,636 5,327
ETRE/NE 1,686 2,367 2,378 4,745
ELRETAH 949 1,392 1,379 2,771
ELTRETRE 111 170 167 337
ETRETHZAKE 85 133 133 266
ELRETLO 76 104 115 219
ETRETEIR 201 311 304 615
=+ RETIRELL 313 377 367 744
FHELTRBX) 8,150 11,580 11,516 23,096
& &t 141,205 166,646 174,354 341,000




